

$\Rightarrow \cos mx$ and $\cos nx$ are orthogonal.

- (c) Let $m = n \Rightarrow \sin mx \cos nx = \frac{1}{2}(\sin 0 + \sin((m+n)x))$ and $\frac{1}{2} \int_k^{k+2\pi} \sin 0 \, dx = 0$ and $\frac{1}{2} \int_k^{k+2\pi} \sin((m+n)x) \, dx = 0$
 $\Rightarrow \sin mx$ and $\cos nx$ are orthogonal if $m = n$.

Let $m \neq n$.

$$\begin{aligned} \int_k^{k+2\pi} \sin mx \cos nx \, dx &= \frac{1}{2} \int_k^{k+2\pi} [\sin(m-n)x + \sin(m+n)x] \, dx = \frac{1}{2} \left[-\frac{1}{m-n} \cos(m-n)x - \frac{1}{m+n} \cos(m+n)x \right]_k^{k+2\pi} \\ &= -\frac{1}{2(m-n)} \cos((m-n)(k+2\pi)) - \frac{1}{2(m+n)} \cos((m+n)(k+2\pi)) + \frac{1}{2(m-n)} \cos((m-n)k) + \frac{1}{2(m+n)} \cos((m+n)k) \\ &= -\frac{1}{2(m-n)} \cos((m-n)k) - \frac{1}{2(m+n)} \cos((m+n)k) + \frac{1}{2(m-n)} \cos((m-n)k) + \frac{1}{2(m+n)} \cos((m+n)k) = 0 \\ &\Rightarrow \sin mx \text{ and } \cos nx \text{ are orthogonal.} \end{aligned}$$

46. $\frac{1}{\pi} \int_{-\pi}^{\pi} f(x) \sin mx \, dx = \sum_{n=1}^N \frac{a_n}{\pi} \int_{-\pi}^{\pi} \sin nx \sin mx \, dx$. Since $\frac{1}{\pi} \int_{-\pi}^{\pi} \sin nx \sin mx \, dx = \begin{cases} 0 & \text{for } m \neq n \\ 1 & \text{for } m = n \end{cases}$,
 the sum on the right has only one nonzero term, namely $\frac{a_m}{\pi} \int_{-\pi}^{\pi} \sin mx \sin mx \, dx = a_m$.

8.5 TRIGONOMETRIC SUBSTITUTIONS

- $y = 3 \tan \theta, -\frac{\pi}{2} < \theta < \frac{\pi}{2}, dy = \frac{3 \, d\theta}{\cos^2 \theta}, 9 + y^2 = 9(1 + \tan^2 \theta) = \frac{9}{\cos^2 \theta} \Rightarrow \frac{1}{\sqrt{9+y^2}} = \frac{|\cos \theta|}{3} = \frac{\cos \theta}{3}$
 (because $\cos \theta > 0$ when $-\frac{\pi}{2} < \theta < \frac{\pi}{2}$);
 $\int \frac{dy}{\sqrt{9+y^2}} = 3 \int \frac{\cos \theta \, d\theta}{3 \cos^2 \theta} = \int \frac{d\theta}{\cos \theta} = \ln |\sec \theta + \tan \theta| + C = \ln \left| \frac{\sqrt{9+y^2}}{3} + \frac{y}{3} \right| + C = \ln |\sqrt{9+y^2} + y| + C$
- $\int \frac{3 \, dy}{\sqrt{1+9y^2}}; [3y = x] \rightarrow \int \frac{dx}{\sqrt{1+x^2}}; x = \tan t, -\frac{\pi}{2} < t < \frac{\pi}{2}, dx = \frac{dt}{\cos^2 t}, \sqrt{1+x^2} = \frac{1}{\cos t};$
 $\int \frac{dx}{\sqrt{1+x^2}} = \int \frac{dt}{\cos^2 t \left(\frac{1}{\cos t}\right)} = \ln |\sec t + \tan t| + C = \ln |\sqrt{x^2+1} + x| + C = \ln |\sqrt{1+9y^2} + 3y| + C$
- $\int_{-2}^2 \frac{dx}{4+x^2} = \left[\frac{1}{2} \tan^{-1} \frac{x}{2} \right]_{-2}^2 = \frac{1}{2} \tan^{-1} 1 - \frac{1}{2} \tan^{-1} (-1) = \left(\frac{1}{2}\right) \left(\frac{\pi}{4}\right) - \left(\frac{1}{2}\right) \left(-\frac{\pi}{4}\right) = \frac{\pi}{4}$
- $\int_0^2 \frac{dx}{8+2x^2} = \frac{1}{2} \int_0^2 \frac{dx}{4+x^2} = \frac{1}{2} \left[\frac{1}{2} \tan^{-1} \frac{x}{2} \right]_0^2 = \frac{1}{2} \left(\frac{1}{2} \tan^{-1} 1 - \frac{1}{2} \tan^{-1} 0 \right) = \left(\frac{1}{2}\right) \left(\frac{1}{2}\right) \left(\frac{\pi}{4}\right) - 0 = \frac{\pi}{16}$
- $\int_0^{3/2} \frac{dx}{\sqrt{9-x^2}} = \left[\sin^{-1} \frac{x}{3} \right]_0^{3/2} = \sin^{-1} \frac{1}{2} - \sin^{-1} 0 = \frac{\pi}{6} - 0 = \frac{\pi}{6}$
- $\int_0^{1/2\sqrt{2}} \frac{2 \, dx}{\sqrt{1-4x^2}}; [t = 2x] \rightarrow \int_0^{1/2\sqrt{2}} \frac{dt}{\sqrt{1-t^2}} = \left[\sin^{-1} t \right]_0^{1/2\sqrt{2}} = \sin^{-1} \frac{1}{\sqrt{2}} - \sin^{-1} 0 = \frac{\pi}{4} - 0 = \frac{\pi}{4}$
- $t = 5 \sin \theta, -\frac{\pi}{2} < \theta < \frac{\pi}{2}, dt = 5 \cos \theta \, d\theta, \sqrt{25-t^2} = 5 \cos \theta;$
 $\int \sqrt{25-t^2} \, dt = \int (5 \cos \theta)(5 \cos \theta) \, d\theta = 25 \int \cos^2 \theta \, d\theta = 25 \int \frac{1+\cos 2\theta}{2} \, d\theta = 25 \left(\frac{\theta}{2} + \frac{\sin 2\theta}{4} \right) + C$
 $= \frac{25}{2} (\theta + \sin \theta \cos \theta) + C = \frac{25}{2} \left[\sin^{-1} \left(\frac{t}{5}\right) + \left(\frac{t}{5}\right) \left(\frac{\sqrt{25-t^2}}{5}\right) \right] + C = \frac{25}{2} \sin^{-1} \left(\frac{t}{5}\right) + \frac{t\sqrt{25-t^2}}{2} + C$
- $t = \frac{1}{3} \sin \theta, -\frac{\pi}{2} < \theta < \frac{\pi}{2}, dt = \frac{1}{3} \cos \theta \, d\theta, \sqrt{1-9t^2} = \cos \theta;$
 $\int \sqrt{1-9t^2} \, dt = \frac{1}{3} \int (\cos \theta)(\cos \theta) \, d\theta = \frac{1}{3} \int \cos^2 \theta \, d\theta = \frac{1}{6} (\theta + \sin \theta \cos \theta) + C = \frac{1}{6} \left[\sin^{-1} (3t) + 3t\sqrt{1-9t^2} \right] + C$
- $x = \frac{7}{2} \sec \theta, 0 < \theta < \frac{\pi}{2}, dx = \frac{7}{2} \sec \theta \tan \theta \, d\theta, \sqrt{4x^2-49} = \sqrt{49 \sec^2 \theta - 49} = 7 \tan \theta;$
 $\int \frac{dx}{\sqrt{4x^2-49}} = \int \frac{\left(\frac{7}{2} \sec \theta \tan \theta\right) d\theta}{7 \tan \theta} = \frac{1}{2} \int \sec \theta \, d\theta = \frac{1}{2} \ln |\sec \theta + \tan \theta| + C = \frac{1}{2} \ln \left| \frac{2x}{7} + \frac{\sqrt{4x^2-49}}{7} \right| + C$

520 Chapter 8 Techniques of Integration

10. $x = \frac{3}{5} \sec \theta, 0 < \theta < \frac{\pi}{2}, dx = \frac{3}{5} \sec \theta \tan \theta d\theta, \sqrt{25x^2 - 9} = \sqrt{9 \sec^2 \theta - 9} = 3 \tan \theta;$
 $\int \frac{5 dx}{\sqrt{25x^2 - 9}} = \int \frac{5 \left(\frac{3}{5} \sec \theta \tan \theta\right) d\theta}{3 \tan \theta} = \int \sec \theta d\theta = \ln |\sec \theta + \tan \theta| + C = \ln \left| \frac{5x}{3} + \frac{\sqrt{25x^2 - 9}}{3} \right| + C$

11. $y = 7 \sec \theta, 0 < \theta < \frac{\pi}{2}, dy = 7 \sec \theta \tan \theta d\theta, \sqrt{y^2 - 49} = 7 \tan \theta;$
 $\int \frac{\sqrt{y^2 - 49}}{y} dy = \int \frac{(7 \tan \theta)(7 \sec \theta \tan \theta) d\theta}{7 \sec \theta} = 7 \int \tan^2 \theta d\theta = 7 \int (\sec^2 \theta - 1) d\theta = 7(\tan \theta - \theta) + C$
 $= 7 \left[\frac{\sqrt{y^2 - 49}}{7} - \sec^{-1} \left(\frac{y}{7} \right) \right] + C$

12. $y = 5 \sec \theta, 0 < \theta < \frac{\pi}{2}, dy = 5 \sec \theta \tan \theta d\theta, \sqrt{y^2 - 25} = 5 \tan \theta;$
 $\int \frac{\sqrt{y^2 - 25}}{y^3} dy = \int \frac{(5 \tan \theta)(5 \sec \theta \tan \theta) d\theta}{125 \sec^3 \theta} = \frac{1}{5} \int \tan^2 \theta \cos^2 \theta d\theta = \frac{1}{5} \int \sin^2 \theta d\theta = \frac{1}{10} \int (1 - \cos 2\theta) d\theta$
 $= \frac{1}{10} (\theta - \sin \theta \cos \theta) + C = \frac{1}{10} \left[\sec^{-1} \left(\frac{y}{5} \right) - \left(\frac{\sqrt{y^2 - 25}}{y} \right) \left(\frac{5}{y} \right) \right] + C = \left[\frac{\sec^{-1} \left(\frac{y}{5} \right)}{10} - \frac{\sqrt{y^2 - 25}}{2y^2} \right] + C$

13. $x = \sec \theta, 0 < \theta < \frac{\pi}{2}, dx = \sec \theta \tan \theta d\theta, \sqrt{x^2 - 1} = \tan \theta;$
 $\int \frac{dx}{x^2 \sqrt{x^2 - 1}} = \int \frac{\sec \theta \tan \theta d\theta}{\sec^2 \theta \tan \theta} = \int \frac{d\theta}{\sec \theta} = \sin \theta + C = \frac{\sqrt{x^2 - 1}}{x} + C$

14. $x = \sec \theta, 0 < \theta < \frac{\pi}{2}, dx = \sec \theta \tan \theta d\theta, \sqrt{x^2 - 1} = \tan \theta;$
 $\int \frac{2 dx}{x^3 \sqrt{x^2 - 1}} = \int \frac{2 \tan \theta \sec \theta d\theta}{\sec^3 \theta \tan \theta} = 2 \int \cos^2 \theta d\theta = 2 \int \left(\frac{1 + \cos 2\theta}{2} \right) d\theta = \theta + \sin \theta \cos \theta + C$
 $= \theta + \tan \theta \cos^2 \theta + C = \sec^{-1} x + \sqrt{x^2 - 1} \left(\frac{1}{x} \right)^2 + C = \sec^{-1} x + \frac{\sqrt{x^2 - 1}}{x^2} + C$

15. $x = 2 \tan \theta, -\frac{\pi}{2} < \theta < \frac{\pi}{2}, dx = \frac{2 d\theta}{\cos^2 \theta}, \sqrt{x^2 + 4} = \frac{2}{\cos \theta};$
 $\int \frac{x^3 dx}{\sqrt{x^2 + 4}} = \int \frac{(8 \tan^3 \theta)(\cos \theta) d\theta}{\cos^2 \theta} = 8 \int \frac{\sin^3 \theta d\theta}{\cos^4 \theta} = 8 \int \frac{(\cos^2 \theta - 1)(-\sin \theta) d\theta}{\cos^4 \theta};$
 $[t = \cos \theta] \rightarrow 8 \int \frac{t^2 - 1}{t^4} dt = 8 \int \left(\frac{1}{t^2} - \frac{1}{t^4} \right) dt = 8 \left(-\frac{1}{t} + \frac{1}{3t^3} \right) + C = 8 \left(-\sec \theta + \frac{\sec^3 \theta}{3} \right) + C$
 $= 8 \left(-\frac{\sqrt{x^2 + 4}}{2} + \frac{(x^2 + 4)^{3/2}}{8 \cdot 3} \right) + C = \frac{1}{3} (x^2 + 4)^{3/2} - 4\sqrt{x^2 + 4} + C$

16. $x = \tan \theta, -\frac{\pi}{2} < \theta < \frac{\pi}{2}, dx = \sec^2 \theta d\theta, \sqrt{x^2 + 1} = \sec \theta;$
 $\int \frac{dx}{x^2 \sqrt{x^2 + 1}} = \int \frac{\sec^2 \theta d\theta}{\tan^2 \theta \sec \theta} = \int \frac{\cos \theta d\theta}{\sin^2 \theta} = -\frac{1}{\sin \theta} + C = \frac{-\sqrt{x^2 + 1}}{x} + C$

17. $w = 2 \sin \theta, -\frac{\pi}{2} < \theta < \frac{\pi}{2}, dw = 2 \cos \theta d\theta, \sqrt{4 - w^2} = 2 \cos \theta;$
 $\int \frac{8 dw}{w^2 \sqrt{4 - w^2}} = \int \frac{8 \cdot 2 \cos \theta d\theta}{4 \sin^2 \theta \cdot 2 \cos \theta} = 2 \int \frac{d\theta}{\sin^2 \theta} = -2 \cot \theta + C = \frac{-2\sqrt{4 - w^2}}{w} + C$

18. $w = 3 \sin \theta, -\frac{\pi}{2} < \theta < \frac{\pi}{2}, dw = 3 \cos \theta d\theta, \sqrt{9 - w^2} = 3 \cos \theta;$
 $\int \frac{\sqrt{9 - w^2}}{w^2} dw = \int \frac{3 \cos \theta \cdot 3 \cos \theta d\theta}{9 \sin^2 \theta} = \int \cot^2 \theta d\theta = \int \left(\frac{1 - \sin^2 \theta}{\sin^2 \theta} \right) d\theta = \int (\csc^2 \theta - 1) d\theta$
 $= -\cot \theta - \theta + C = -\frac{\sqrt{9 - w^2}}{w} - \sin^{-1} \left(\frac{w}{3} \right) + C$

19. $x = \sin \theta, 0 \leq \theta \leq \frac{\pi}{3}, dx = \cos \theta d\theta, (1 - x^2)^{3/2} = \cos^3 \theta;$
 $\int_0^{\sqrt{3}/2} \frac{4x^2 dx}{(1 - x^2)^{3/2}} = \int_0^{\pi/3} \frac{4 \sin^2 \theta \cos \theta d\theta}{\cos^3 \theta} = 4 \int_0^{\pi/3} \left(\frac{1 - \cos^2 \theta}{\cos^2 \theta} \right) d\theta = 4 \int_0^{\pi/3} (\sec^2 \theta - 1) d\theta$
 $= 4 [\tan \theta - \theta]_0^{\pi/3} = 4\sqrt{3} - \frac{4\pi}{3}$

20. $x = 2 \sin \theta$, $0 \leq \theta \leq \frac{\pi}{6}$, $dx = 2 \cos \theta d\theta$, $(4 - x^2)^{3/2} = 8 \cos^3 \theta$;

$$\int_0^1 \frac{dx}{(4-x^2)^{3/2}} = \int_0^{\pi/6} \frac{2 \cos \theta d\theta}{8 \cos^3 \theta} = \frac{1}{4} \int_0^{\pi/6} \frac{d\theta}{\cos^2 \theta} = \frac{1}{4} [\tan \theta]_0^{\pi/6} = \frac{\sqrt{3}}{12} = \frac{1}{4\sqrt{3}}$$

21. $x = \sec \theta$, $0 < \theta < \frac{\pi}{2}$, $dx = \sec \theta \tan \theta d\theta$, $(x^2 - 1)^{3/2} = \tan^3 \theta$;

$$\int \frac{dx}{(x^2-1)^{3/2}} = \int \frac{\sec \theta \tan \theta d\theta}{\tan^3 \theta} = \int \frac{\cos \theta d\theta}{\sin^2 \theta} = -\frac{1}{\sin \theta} + C = -\frac{x}{\sqrt{x^2-1}} + C$$

22. $x = \sec \theta$, $0 < \theta < \frac{\pi}{2}$, $dx = \sec \theta \tan \theta d\theta$, $(x^2 - 1)^{5/2} = \tan^5 \theta$;

$$\int \frac{x^2 dx}{(x^2-1)^{5/2}} = \int \frac{\sec^2 \theta \sec \theta \tan \theta d\theta}{\tan^5 \theta} = \int \frac{\cos \theta d\theta}{\sin^4 \theta} = -\frac{1}{3 \sin^3 \theta} + C = -\frac{x^3}{3(x^2-1)^{3/2}} + C$$

23. $x = \sin \theta$, $-\frac{\pi}{2} < \theta < \frac{\pi}{2}$, $dx = \cos \theta d\theta$, $(1 - x^2)^{3/2} = \cos^3 \theta$;

$$\int \frac{(1-x^2)^{3/2} dx}{x^6} = \int \frac{\cos^3 \theta \cos \theta d\theta}{\sin^6 \theta} = \int \cot^4 \theta \csc^2 \theta d\theta = -\frac{\cot^5 \theta}{5} + C = -\frac{1}{5} \left(\frac{\sqrt{1-x^2}}{x} \right)^5 + C$$

24. $x = \sin \theta$, $-\frac{\pi}{2} < \theta < \frac{\pi}{2}$, $dx = \cos \theta d\theta$, $(1 - x^2)^{1/2} = \cos \theta$;

$$\int \frac{(1-x^2)^{1/2} dx}{x^4} = \int \frac{\cos \theta \cos \theta d\theta}{\sin^4 \theta} = \int \cot^2 \theta \csc^2 \theta d\theta = -\frac{\cot^3 \theta}{3} + C = -\frac{1}{3} \left(\frac{\sqrt{1-x^2}}{x} \right)^3 + C$$

25. $x = \frac{1}{2} \tan \theta$, $-\frac{\pi}{2} < \theta < \frac{\pi}{2}$, $dx = \frac{1}{2} \sec^2 \theta d\theta$, $(4x^2 + 1)^2 = \sec^4 \theta$;

$$\int \frac{8 dx}{(4x^2+1)^2} = \int \frac{8 \left(\frac{1}{2} \sec^2 \theta\right) d\theta}{\sec^4 \theta} = 4 \int \cos^2 \theta d\theta = 2(\theta + \sin \theta \cos \theta) + C = 2 \tan^{-1} 2x + \frac{4x}{(4x^2+1)} + C$$

26. $t = \frac{1}{3} \tan \theta$, $-\frac{\pi}{2} < \theta < \frac{\pi}{2}$, $dt = \frac{1}{3} \sec^2 \theta d\theta$, $9t^2 + 1 = \sec^2 \theta$;

$$\int \frac{6 dt}{(9t^2+1)^2} = \int \frac{6 \left(\frac{1}{3} \sec^2 \theta\right) d\theta}{\sec^4 \theta} = 2 \int \cos^2 \theta d\theta = \theta + \sin \theta \cos \theta + C = \tan^{-1} 3t + \frac{3t}{(9t^2+1)} + C$$

27. $v = \sin \theta$, $-\frac{\pi}{2} < \theta < \frac{\pi}{2}$, $dv = \cos \theta d\theta$, $(1 - v^2)^{5/2} = \cos^5 \theta$;

$$\int \frac{v^2 dv}{(1-v^2)^{5/2}} = \int \frac{\sin^2 \theta \cos \theta d\theta}{\cos^5 \theta} = \int \tan^2 \theta \sec^2 \theta d\theta = \frac{\tan^3 \theta}{3} + C = \frac{1}{3} \left(\frac{v}{\sqrt{1-v^2}} \right)^3 + C$$

28. $r = \sin \theta$, $-\frac{\pi}{2} < \theta < \frac{\pi}{2}$;

$$\int \frac{(1-r^2)^{5/2} dr}{r^8} = \int \frac{\cos^5 \theta \cos \theta d\theta}{\sin^8 \theta} = \int \cot^6 \theta \csc^2 \theta d\theta = -\frac{\cot^7 \theta}{7} + C = -\frac{1}{7} \left[\frac{\sqrt{1-r^2}}{r} \right]^7 + C$$

29. Let $e^t = 3 \tan \theta$, $t = \ln(3 \tan \theta)$, $\tan^{-1}(\frac{1}{3}) \leq \theta \leq \tan^{-1}(\frac{4}{3})$, $dt = \frac{\sec^2 \theta}{\tan \theta} d\theta$, $\sqrt{e^{2t} + 9} = \sqrt{9 \tan^2 \theta + 9} = 3 \sec \theta$;

$$\begin{aligned} \int_0^{\ln 4} \frac{e^t dt}{\sqrt{e^{2t} + 9}} &= \int_{\tan^{-1}(1/3)}^{\tan^{-1}(4/3)} \frac{3 \tan \theta \sec^2 \theta d\theta}{\tan \theta \cdot 3 \sec \theta} = \int_{\tan^{-1}(1/3)}^{\tan^{-1}(4/3)} \sec \theta d\theta = [\ln |\sec \theta + \tan \theta|]_{\tan^{-1}(1/3)}^{\tan^{-1}(4/3)} \\ &= \ln \left(\frac{5}{3} + \frac{4}{3} \right) - \ln \left(\frac{\sqrt{10}}{3} + \frac{1}{3} \right) = \ln 9 - \ln \left(1 + \sqrt{10} \right) \end{aligned}$$

30. Let $e^t = \tan \theta$, $t = \ln(\tan \theta)$, $\tan^{-1}(\frac{3}{4}) \leq \theta \leq \tan^{-1}(\frac{4}{3})$, $dt = \frac{\sec^2 \theta}{\tan \theta} d\theta$, $1 + e^{2t} = 1 + \tan^2 \theta = \sec^2 \theta$;

$$\int_{\ln(3/4)}^{\ln(4/3)} \frac{e^t dt}{(1+e^{2t})^{3/2}} = \int_{\tan^{-1}(3/4)}^{\tan^{-1}(4/3)} \frac{(\tan \theta) \left(\frac{\sec^2 \theta}{\tan \theta} \right) d\theta}{\sec^3 \theta} = \int_{\tan^{-1}(3/4)}^{\tan^{-1}(4/3)} \cos \theta d\theta = [\sin \theta]_{\tan^{-1}(3/4)}^{\tan^{-1}(4/3)} = \frac{4}{5} - \frac{3}{5} = \frac{1}{5}$$

31. $\int_{1/\sqrt{3}}^{1/4} \frac{2 dt}{\sqrt{t+4t\sqrt{t}}}$; $[u = 2\sqrt{t}, du = \frac{1}{\sqrt{t}} dt] \rightarrow \int_{1/\sqrt{3}}^1 \frac{2 du}{1+u^2}$; $u = \tan \theta$, $\frac{\pi}{6} \leq \theta \leq \frac{\pi}{4}$, $du = \sec^2 \theta d\theta$, $1 + u^2 = \sec^2 \theta$;

$$\int_{1/\sqrt{3}}^1 \frac{2 du}{1+u^2} = \int_{\pi/6}^{\pi/4} \frac{2 \sec^2 \theta d\theta}{\sec^2 \theta} = [2\theta]_{\pi/6}^{\pi/4} = 2 \left(\frac{\pi}{4} - \frac{\pi}{6} \right) = \frac{\pi}{6}$$

522 Chapter 8 Techniques of Integration

32. $y = e^{\tan \theta}$, $0 \leq \theta \leq \frac{\pi}{4}$, $dy = e^{\tan \theta} \sec^2 \theta d\theta$, $\sqrt{1 + (\ln y)^2} = \sqrt{1 + \tan^2 \theta} = \sec \theta$;

$$\int_1^e \frac{dy}{y\sqrt{1 + (\ln y)^2}} = \int_0^{\pi/4} \frac{e^{\tan \theta} \sec^2 \theta}{e^{\tan \theta} \sec \theta} d\theta = \int_0^{\pi/4} \sec \theta d\theta = [\ln |\sec \theta + \tan \theta|]_0^{\pi/4} = \ln(1 + \sqrt{2})$$

33. $x = \sec \theta$, $0 < \theta < \frac{\pi}{2}$, $dx = \sec \theta \tan \theta d\theta$, $\sqrt{x^2 - 1} = \sqrt{\sec^2 \theta - 1} = \tan \theta$;

$$\int \frac{dx}{x\sqrt{x^2 - 1}} = \int \frac{\sec \theta \tan \theta d\theta}{\sec \theta \tan \theta} = \theta + C = \sec^{-1} x + C$$

34. $x = \tan \theta$, $dx = \sec^2 \theta d\theta$, $1 + x^2 = \sec^2 \theta$;

$$\int \frac{dx}{x^2 + 1} = \int \frac{\sec^2 \theta d\theta}{\sec^2 \theta} = \theta + C = \tan^{-1} x + C$$

35. $x = \sec \theta$, $dx = \sec \theta \tan \theta d\theta$, $\sqrt{x^2 - 1} = \sqrt{\sec^2 \theta - 1} = \tan \theta$;

$$\int \frac{x dx}{\sqrt{x^2 - 1}} = \int \frac{\sec \theta \tan \theta d\theta}{\tan \theta} = \int \sec \theta d\theta = \tan \theta + C = \sqrt{x^2 - 1} + C$$

36. $x = \sin \theta$, $dx = \cos \theta d\theta$, $-\frac{\pi}{2} < \theta < \frac{\pi}{2}$;

$$\int \frac{dx}{\sqrt{1 - x^2}} = \int \frac{\cos \theta d\theta}{\cos \theta} = \theta + C = \sin^{-1} x + C$$

37. $x \frac{dy}{dx} = \sqrt{x^2 - 4}$; $dy = \sqrt{x^2 - 4} \frac{dx}{x}$; $y = \int \frac{\sqrt{x^2 - 4}}{x} dx$; $\left[\begin{array}{l} x = 2 \sec \theta, 0 < \theta < \frac{\pi}{2} \\ dx = 2 \sec \theta \tan \theta d\theta \\ \sqrt{x^2 - 4} = 2 \tan \theta \end{array} \right]$

$$\rightarrow y = \int \frac{(2 \tan \theta)(2 \sec \theta \tan \theta d\theta)}{2 \sec \theta} = 2 \int \tan^2 \theta d\theta = 2 \int (\sec^2 \theta - 1) d\theta = 2(\tan \theta - \theta) + C$$

$$= 2 \left[\frac{\sqrt{x^2 - 4}}{2} - \sec^{-1} \left(\frac{x}{2} \right) \right] + C; x = 2 \text{ and } y = 0 \Rightarrow 0 = 0 + C \Rightarrow C = 0 \Rightarrow y = 2 \left[\frac{\sqrt{x^2 - 4}}{2} - \sec^{-1} \frac{x}{2} \right]$$

38. $\sqrt{x^2 - 9} \frac{dy}{dx} = 1$, $dy = \frac{dx}{\sqrt{x^2 - 9}}$; $y = \int \frac{dx}{\sqrt{x^2 - 9}}$; $\left[\begin{array}{l} x = 3 \sec \theta, 0 < \theta < \frac{\pi}{2} \\ dx = 3 \sec \theta \tan \theta d\theta \\ \sqrt{x^2 - 9} = 3 \tan \theta \end{array} \right] \rightarrow y = \int \frac{3 \sec \theta \tan \theta d\theta}{3 \tan \theta}$

$$= \int \sec \theta d\theta = \ln |\sec \theta + \tan \theta| + C = \ln \left| \frac{x}{3} + \frac{\sqrt{x^2 - 9}}{3} \right| + C; x = 5 \text{ and } y = \ln 3 \Rightarrow \ln 3 = \ln 3 + C \Rightarrow C = 0$$

$$\Rightarrow y = \ln \left| \frac{x}{3} + \frac{\sqrt{x^2 - 9}}{3} \right|$$

39. $(x^2 + 4) \frac{dy}{dx} = 3$, $dy = \frac{3 dx}{x^2 + 4}$; $y = 3 \int \frac{dx}{x^2 + 4} = \frac{3}{2} \tan^{-1} \frac{x}{2} + C$; $x = 2 \text{ and } y = 0 \Rightarrow 0 = \frac{3}{2} \tan^{-1} 1 + C$

$$\Rightarrow C = -\frac{3\pi}{8} \Rightarrow y = \frac{3}{2} \tan^{-1} \left(\frac{x}{2} \right) - \frac{3\pi}{8}$$

40. $(x^2 + 1)^2 \frac{dy}{dx} = \sqrt{x^2 + 1}$, $dy = \frac{dx}{(x^2 + 1)^{3/2}}$; $x = \tan \theta$, $dx = \sec^2 \theta d\theta$, $(x^2 + 1)^{3/2} = \sec^3 \theta$;

$$y = \int \frac{\sec^2 \theta d\theta}{\sec^3 \theta} = \int \cos \theta d\theta = \sin \theta + C = \tan \theta \cos \theta + C = \frac{\tan \theta}{\sec \theta} + C = \frac{x}{\sqrt{x^2 + 1}} + C; x = 0 \text{ and } y = 1$$

$$\Rightarrow 1 = 0 + C \Rightarrow y = \frac{x}{\sqrt{x^2 + 1}} + 1$$

41. $A = \int_0^3 \frac{\sqrt{9 - x^2}}{3} dx$; $x = 3 \sin \theta$, $0 \leq \theta \leq \frac{\pi}{2}$, $dx = 3 \cos \theta d\theta$, $\sqrt{9 - x^2} = \sqrt{9 - 9 \sin^2 \theta} = 3 \cos \theta$;

$$A = \int_0^{\pi/2} \frac{3 \cos \theta \cdot 3 \cos \theta d\theta}{3} = 3 \int_0^{\pi/2} \cos^2 \theta d\theta = \frac{3}{2} [\theta + \sin \theta \cos \theta]_0^{\pi/2} = \frac{3\pi}{4}$$